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Addition (Horizontal)

Name:

Solve each problem.

1) 426+ 346 =

2) 2429+ 408 =

3) 6,626+ 38=

4 99+ 7=

5 300+43=

6) 841 + 708 =

7) 423+ 37=

8 332+6=

9) 57+55=

10) 59 + 46 =

11) 3,759 + 57 =

12) 2,006 + 654 =

13) 948 + 395 =

14) 8,157 + 3,420 =

15) 2,345+ 61 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

426 + 346 = 772

2,429 +408= 2,837

6,626 + 38= 6,664

PO+7= 106

300 +43= 343

841+ 708= 1,549

423+ 37 = 460

32+6= 38

5/ +55= 112

99 + 46 = 105

3,799+57= 3,816

2,006 +654= 2,660

948 +395= 1,343

8,157 +3,420= 11,577

2,345+61= 2,406

10.

11.

12.

13.

14.

15.

Answers

772

2,837

6,664

106

343

1,549

460

38

112

105

3,816

2,660

1,343

11,577

2,406
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C:h Addition (Horizontal)

Name:

Solve each problem.

Answers

{

38 6,664 106
112 1,549 343

460
105

772
2,837 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

426 + 346 =

2,429 + 408 =

6,626 + 38 =

+7=

300 +43=

841 + 708 =

423 + 37 =

32+6=

57 +55=

59 +46 =

10.

C
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